Fr A M B R OB R G R E

Ik B fi ok =3

PN - FE lxaryss| %
B =2
INTEITE 2
o
N R (55 140 B4 48 )
( R R
T G S0 2F B B B AT YE 4 o
B S T OB M M i

INGER PE T IR R I N

=

w - e
W s | (e wmamn )

=

[i] 7 PEA R SRRE T (RHmEERT)

=

i [EERS AR B

=

=

I

=

I A Ff IS

=

=

G|

S

=

H|H|EB| E|H| EH

=




i

BT A M B i 5 i 5 KR

pui

R & HOE fk

i KA (HEXAN)
(E= BT LA TR T H 28

K & s KRB

RENERFLIER ISR OBUEIC LY . TRED LB TABIRSL LR L ET,

%‘E]\,@‘U OO OO0 4% O A O H

N s B . ﬁzg EHK S ER| 00000 &
AT ED 37 OO0
m
N (% 5 3 2 B A 24 )
( £ A R A )
%5 6% o0 7 B AR BL B e m
T EE TR Y m
NS 5 E e R i @
S
W e L (s sma &) i
B PR IE BRI B GRAGEED) @
o | B e @
m @
2 o i
r
A E it
) m @
#i . -
3t m @




